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 1. ��L�ก
�%�����
��
�2��6E
4�

ก
&
��2 1��#� ��L�  Wingate Test 

 

 2. ��L�ก
�%�
#� ��
�ก
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�	� 1��ก
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ก
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�%�
�������L�ก
�$M��	���ก����ก	�ก
�%���� �
ก��ก�
�����

���	� �4����$3

�
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ก
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�	�*	�
��
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4. #
ก
�%������	��
��ก�!�2�	����
�� ��%�
ก
�%���� 4 ��L� �	
�� 1 ��L� 1��������ก�$3
  
                                                            

 ��L�%�� 1 %�
ก
�,GH
�	�� ����L�ก
�$78
�	ก��

%�����	���
2�
	ก 40 % *���	��
ก
��� 

�	�#���
��� 
 

 ��L�%�� 2 %�
ก
�,GH
�	�� ����L�ก
�$78
�	ก��

%�����	���
2�
	ก 50 % *���	��
ก
��� 

�	�#���
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 ��L�%�� 3 %�
ก
�,GH
�	�� ����L�ก
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�	ก��

%�����	���
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	ก 60 % *���	��
ก
��� 

�	�#���
��� 
 

 ��L�%�� 4 %�
ก
�,GH
�	�1��ก
�
	��4	ก 
 

ก
�%������%�
#
�������
 09.00 + 12.00 
. ���#� 4	ก�$3
���
 2 �	
 �����
�ก
�%����
#
�������L� �����ก
���กก�
�	�ก
�������
ก��
����
	ก%!ก��$���ก��
ก
�%����#
�������L� 
�$3
���
 48 �	��12� 
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ก
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�	ก��

%����
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4	ก 2 �	
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E
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ก
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ก�����'(����)���ก��������
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#
ก
����	���	��
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1. �4���&)ก;
"�*��ก
�,GH
�	����2�ก��ก��2ก
�������
+��%�����	���
2�
	ก��
�ก	
%��2�
����2��6E
4�

ก
&
��2 � ��ก
�%������
2��ก��
�*����
�O�����2��6E
4�

ก
&
��2
*��ก
�%������	��%�� 1 ก	� ��
�O�����2��6E
4�

ก
&
��2*��ก
�%������	��%�� 2  #
�������L� 
1��#� ก
�%������
%� (t-test)  
 

2. �4����
��
��
2��ก��
�*���2��6E
4�

ก
&
��2%���ก���
กก
�,GH
�	����2�ก��ก��2
ก
�������
+��%�����	���
2�
	ก��
�ก	
 4 ��L� � ��ก
������
��.��
2�$�$��
��$���ก
�%����
�	�5��
���2�������� (repeated measures in one-dimensional design) 1��#� �6��� one way analysis of 
variance with repeated measure 

 

E
���	�ก
������
��.��
2�$�$��
��$���ก
�%�����	�5��
���2�������� �
ก4���
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�ก	
���
�2�
	���
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��6��� ��%�
ก
��$�����%�����
2��ก��
��$3
�
����� ����L�
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�
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ก
&
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ก
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�	�#���
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�
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ก
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�ก
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��*��*	
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2
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�
* �� 
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* �2����
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�
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�
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ก
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ก
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ก
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